
MATHS

BOOKS - BETOPPERS

ALGEBRA

Formative Worksheet

1. The statement "five less than half of a

number x" is equivalent to the expression

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HK8PPSZpXYhT


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

+ 5
x

2

− 5
x

2

− 2
x

5

+ 2
x

5

2. The statement "four more than nine times

of a number x" is equivalent to the expression

https://dl.doubtnut.com/l/_HK8PPSZpXYhT
https://dl.doubtnut.com/l/_KtLkQLZdG0wy


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9x − 4

4x − 9

9x + 4

4x + 9

3. In a basketball match, Jeff scored n points

and Bill scored seven points less than Jeff. How

many points did Bill score?

https://dl.doubtnut.com/l/_KtLkQLZdG0wy
https://dl.doubtnut.com/l/_lO398SrxcMa7


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

n + 7

n − 7

n × 7

n ÷ 7

4. The algebraic expression for the statement

"ten more than thrice a number x" is

https://dl.doubtnut.com/l/_lO398SrxcMa7
https://dl.doubtnut.com/l/_ZqYMsbZoWUL8


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

10x + 3

3x + 10

+ 3
x

10

+ 10
x

3

5. Two friends Phil and Steve participated in a

chocolate eating competition. Phil ate five

chocolates less than thrice the number of

https://dl.doubtnut.com/l/_ZqYMsbZoWUL8
https://dl.doubtnut.com/l/_jGDwrdKCfJ7K


chocolates eatenj by Steve. If Steve ate C

chocolates, then which of the following

expressions is equivalent to the number of

chocolates eaten by Phil?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

5C + 3

3C + 3

5C − 3

3C − 5

https://dl.doubtnut.com/l/_jGDwrdKCfJ7K


6. What is the value of variable x in the

equation ?

A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

36 + 4x = 48

https://dl.doubtnut.com/l/_jGDwrdKCfJ7K
https://dl.doubtnut.com/l/_BbqeuEf4jeCF
https://dl.doubtnut.com/l/_ZXNTGCaS1dCv


7. What is the value of variable b in the

equation ?

A. 5

B. 7

C. 13

D. 15

Answer:

Watch Video Solution

2b − 11 = 15

https://dl.doubtnut.com/l/_ZXNTGCaS1dCv
https://dl.doubtnut.com/l/_SpfzBAhNm1PL


8. If the perimeter, p of a rectangle with length

l and width w is given by the equation

, then

A.  and  are constants, while  and  are

variables

B.  and  are constants, while  and  are

variables

C. ,  and  are constants, while  is a

variable

p = 2l + 2w

p l 2 w

2 w p l

p w l 2

https://dl.doubtnut.com/l/_SpfzBAhNm1PL


D.  is a constant, while , , and  are

variables

Answer:

Watch Video Solution

2 p l w

9. The perimeter of a rectangle of length l and

width w is given by the formula  


The variables in the given formula are

A. 

p = 2(l + w)

l, w, and P

https://dl.doubtnut.com/l/_SpfzBAhNm1PL
https://dl.doubtnut.com/l/_Rjt5Vh8GhlZU


B. 

C. 

D. 

Answer:

Watch Video Solution

l, 2, and w

2 and l

2 and w

10. Which of the following expressions

'correctly' represents the expressin ''fifteen

divided by a number x"?

https://dl.doubtnut.com/l/_Rjt5Vh8GhlZU
https://dl.doubtnut.com/l/_s35igAV0VrZw


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

15x

x + 15

15

x

x

15

11. Which of the following expressions

'correctly' represents the expression "x less

than ten"?

https://dl.doubtnut.com/l/_s35igAV0VrZw
https://dl.doubtnut.com/l/_VlAS0h4IR94a


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

10 − x

x − 10

10x

x

10

12. Jane has Rs. X with her. The amount with

Colin is Rs. 15, which Rs. 2 more than that with

Jane. 

https://dl.doubtnut.com/l/_VlAS0h4IR94a
https://dl.doubtnut.com/l/_nq9YNBqXJfiJ


Which of the following equations correctly

represents the given information?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x − 2 = 15

x + 2 = 15

x − 15 = 2

x + 15 = 2

https://dl.doubtnut.com/l/_nq9YNBqXJfiJ


13. The statement "two times a number y" is

equivalent to which of the following

expressions?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

y ÷ 2

y − 2

y ÷ 2

y × 2

https://dl.doubtnut.com/l/_66KlEXVOxm3y


14. If John has n marbles and loses five of them

in a game, then the number of marbles left

with him is equivalent to which of the

following expressions?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

n ÷ 5

n × 5

n + 5

n − 5

https://dl.doubtnut.com/l/_XSxJyRERSHiA


15. The equation 3 + x = 18 can be written in

words as

A. Three more than a number x equals

eighteen

B. Three less than a number x equals

eighteen

C. Eighteen more than a number x equals

three

https://dl.doubtnut.com/l/_XSxJyRERSHiA
https://dl.doubtnut.com/l/_iwxVAsUe21hW


D. Eighteen less than a number x equals

three

Answer:

Watch Video Solution

16. Which of the following statements is true

about the equation ?

A. A number x, when divided by 7 equals 4.

B. 7, when divided by a number x equals 4.

x ÷ 7 = 4

https://dl.doubtnut.com/l/_iwxVAsUe21hW
https://dl.doubtnut.com/l/_17dvMjFQKOR1


C. A number x, when divided by 4 equals 7.

D. 4, when divided by a number x equals 7.

Answer:

Watch Video Solution

17. If a table costs Rs.x and a chair costs Rs. (2x

- 3), then the cost of the chair is

A. Rs. 3 more than twice the cost of the

table

https://dl.doubtnut.com/l/_17dvMjFQKOR1
https://dl.doubtnut.com/l/_mtCCIx2micBJ


B. Rs. 3 less than twice the cost of the table

C. Rs. 2 more than thrice the cost of the

table

D. Rs. 2 less then thrice the cost of the

table

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mtCCIx2micBJ


18. Which equation correctly satisfies the

statement "twenty-five less than thrice the

number 'n' equal six"?

A. 3n - 25 = 6

B. 25 - 3n = 6

C. 3(n - 25) = 6

D. 3(25 - n) = 6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_D6395lM95QFF


19. Jerry had some chocolates and candies. The

number of chocolates was 2 more than twice

the number of candies. The candies were x in

number. 

The total number of chocolates with Jerry

equals

A. 2x - 2

B. x + 2

C. 2x + 2

D. x - 2

https://dl.doubtnut.com/l/_CZZWEQQfU8CV


Answer:

Watch Video Solution

20. Randy scored x marks in mathematics. His

marks in biology were 3 more than two-thirds

of the marks obtained by him in mathematics.

The marks scored by Randy in biology were

A. 

B. 

C. 

x + 3
2

3

x + 3
3

2

x + 2
2

3

https://dl.doubtnut.com/l/_CZZWEQQfU8CV
https://dl.doubtnut.com/l/_NlBINeoWsiBM


D. 

Answer:

Watch Video Solution

x + 2
3

2

21. The number of chairs in an auditorium is 4

more than thrice the numbber of tables in

that auditorium. If the number of tables is x,

then the number of chairs equals

A. 4x + 3

https://dl.doubtnut.com/l/_NlBINeoWsiBM
https://dl.doubtnut.com/l/_rXbaDuznK9lV


B. 3x + 4

C. 

D. 

Answer:

Watch Video Solution

+ 3
x

4

+ 4
x

3

22. John's pocket money is Rs. 2 more than half

the pocket money of his sister. 

If John's sistter gets Rs. x, then John's pocket

money in Rs. Is

https://dl.doubtnut.com/l/_rXbaDuznK9lV
https://dl.doubtnut.com/l/_fCvvfOP3bKX3


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2x +
1

2

x +
1

2

+ 2
x

2

x + 2

23. The number of hours required by a bike to

travel a particular distance is twice the

number of hours required by a car to travel a

https://dl.doubtnut.com/l/_fCvvfOP3bKX3
https://dl.doubtnut.com/l/_ohc8U2Tah4CV


particular distance. 

If the car takes x hours, the number of hours

taken by the bike will be

A. (x + 2)

B. 

C. 2x

D. (x - 2)

Answer:

Watch Video Solution

x

2

https://dl.doubtnut.com/l/_ohc8U2Tah4CV
https://dl.doubtnut.com/l/_pR3w8idbRnYY


24. State the number of terms in the following

algebraic expression ?

Watch Video Solution

xy + 2yz + 9

25. Simplify the following expression: 

?

Watch Video Solution

7x + 5m − 3( − 3m)

26. Simplify the following expression: 

5a2b2 − 4a2b − ( − 10a2b2)

https://dl.doubtnut.com/l/_pR3w8idbRnYY
https://dl.doubtnut.com/l/_uG54kLLHB6nF
https://dl.doubtnut.com/l/_Y6cx6zPUv41y


Conceptive Worksheet

Watch Video Solution

1. In a zoo, the number of monkeys is three

more than thrice the number of alligators. If

there are y alligators in the zoo, then the

number of monkeys is

A. 3y - 3

B. 3y + 3

https://dl.doubtnut.com/l/_Y6cx6zPUv41y
https://dl.doubtnut.com/l/_YN8arImz3FnQ


C. 

D. 

Answer:

Watch Video Solution

− 3
y

3

+ 3
y

3

2. Tom's age is five years less than thrice of

Ben's age. If Ben is x years old, then Tom's age,

in years, is

A. 5x − 3

https://dl.doubtnut.com/l/_YN8arImz3FnQ
https://dl.doubtnut.com/l/_Y90OtMnvCExG


B. 

C. 

D. 

Answer:

Watch Video Solution

5x + 3

3x − 5

3x + 5

3. If Sam and Raymond respectively have Rs. X

and Rs. (x + 10) in their piggy banks, then

which of the following statements is true?

https://dl.doubtnut.com/l/_Y90OtMnvCExG
https://dl.doubtnut.com/l/_8e6e0Bumqr3e


A. Sam has Rs. 10 more than Raymond.

B. Raymond has Rs. 10 more than Sam.

C. Sam has Rs. x less than Sam.

D. Raymond has Rs. x less than Sam.

Answer:

Watch Video Solution

4. The number of shirts with Andy is four more

than half the number of shirts with John. 

If John has s shirts, then which of the following

https://dl.doubtnut.com/l/_8e6e0Bumqr3e
https://dl.doubtnut.com/l/_R088gif9AbLE


expressions is 'equivalent' to the number of

shirts with Andy?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

− 4
s

2

+ 4
s

2

4s −
1

2

4s +
1

2

https://dl.doubtnut.com/l/_R088gif9AbLE


5. What is the value of variable y in equation

?

A. 3

B. 6

C. 8

D. 9

Answer:

Watch Video Solution

6y − 36 = 12

https://dl.doubtnut.com/l/_KKHQBg3EUA4E
https://dl.doubtnut.com/l/_UYSNCLLTCUex


6. What is the value of variable a in the

equation 45 - 5a = 25?

A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_UYSNCLLTCUex


7. What is the value of variable a in the

equation 3a + 5 = 32?

A. 1

B. 4

C. 6

D. 9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ZvxzyhrCHOuC
https://dl.doubtnut.com/l/_oLMzxOoy2WRb


8. The area of rectangle of length l and width

w is given by the formula . 


Which of the following statement is true with

respect to the given formula?

A. There is no constant in the given

formula.

B. There is no variable in the given formula.

C. There is only one constant in the given

formula.

A = l × w

https://dl.doubtnut.com/l/_oLMzxOoy2WRb


D. There is only one variable in the given

formula.

Answer:

Watch Video Solution

9. Which of the following statements is the

appropriate verbal expressions for the

mathematical expression ?
5(Z − 6)

2

https://dl.doubtnut.com/l/_oLMzxOoy2WRb
https://dl.doubtnut.com/l/_Y3NipHsgY903


A. Two times the difference of a number

and six, divided by five

B. Five times the difference of a number

and six, divided by two

C. Six times the difference of a number and

five, divided by two

D. Six times the difference of a number and

two, divided by five

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Y3NipHsgY903


10. Which of the following expressins

'correctly' represents the verbal expressions "x

more than fifteen"?

A. x + 15

B. 15x

C. 

D. 

Answer:

Watch Video Solution

x

15

x − 15

https://dl.doubtnut.com/l/_Y3NipHsgY903
https://dl.doubtnut.com/l/_jDt7fx9fD8ne


11. Jay is three years younger than Mike, whose

age is y years. 

Jay's age, in years, is 'equivalent' to which of

the following expressions?

A. y - 3

B. y + 3

C. 

D. 

y × 3

y ÷ 3

https://dl.doubtnut.com/l/_jDt7fx9fD8ne
https://dl.doubtnut.com/l/_Hx6GnFqD5G6I


Answer:

Watch Video Solution

12. The statement "three more than four times

a number x" is equivalent to which of the

following expressions?

A. 4x + 3

B. 4x - 3

C. 3x + 4

D. 3x - 4

https://dl.doubtnut.com/l/_Hx6GnFqD5G6I
https://dl.doubtnut.com/l/_wiSJzkelfPSm


Answer:

Watch Video Solution

13. If Ben distributes Rs. x equally among his

three children, then each child's share is

equivalent to which of the following

expressions?

A. Rs.(x-3)

B. Rs.(x+3)

C. Rs.(x  3)÷

https://dl.doubtnut.com/l/_wiSJzkelfPSm
https://dl.doubtnut.com/l/_l1kC4mdiEP0c


D. Rs.(x  3)

Answer:

Watch Video Solution

×

14. The expression "three times a number n" is

equivalent to which of the following

expressions?

A. 

B. 

n × 3

n + 3

https://dl.doubtnut.com/l/_l1kC4mdiEP0c
https://dl.doubtnut.com/l/_R4Y7ebfBk2Aj


C. 

D. 

Answer:

Watch Video Solution

n − 3

n ÷ 3

15. Which of the following tables is correct?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_R4Y7ebfBk2Aj
https://dl.doubtnut.com/l/_VwRFnk8hJvRZ


D. 

Answer:

Watch Video Solution

16. If the length (l) (in m) and width (w) (in m)

of a room are related by the expresion

, then the width of the room is

A. 1 m more than half of the length

B. 1 m less than half of the length

w = l + 1
1

2

https://dl.doubtnut.com/l/_VwRFnk8hJvRZ
https://dl.doubtnut.com/l/_DC7zQ9oYcpI1


C. 2 m more than half of the length

D. 2 m less than half of the length

Answer:

Watch Video Solution

17. Which equation correctly satisfies the

statement "seven less than eight times the

number 'x' equals thirty three"?

A. 8x − 7 = 33

https://dl.doubtnut.com/l/_DC7zQ9oYcpI1
https://dl.doubtnut.com/l/_fwVOh43oC9d1


B. 

C. 

D. 

Answer:

Watch Video Solution

7x − 8 = 33

7 − 8x = 33

8 − 7x = 33

18. Which equation correctly represents the

statement "the double of the sum of fourteen

and twice a number 'a' equals forty"?

https://dl.doubtnut.com/l/_fwVOh43oC9d1
https://dl.doubtnut.com/l/_wAHqT1Hn1mdp


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

14 + 2a = 40

2(14 + 2a) = 40

2 × 2a + 14 = 40

2(a + 14) = 40

19. There were x tube lights in an auditorium.

The number of fans was 7 less than half the

number of tube lights. The number of fans was

https://dl.doubtnut.com/l/_wAHqT1Hn1mdp
https://dl.doubtnut.com/l/_15Punn3DsNr0


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

− 2
x

7

− 7
x

2

+ 7
x

2

+ 2
x

7

20. Mr. Smith's salary is half of Mr. Gere's

salary. If Mr. Gere's salary is Rs.x, then the

salary of Mr. Smith in Rs. is

https://dl.doubtnut.com/l/_15Punn3DsNr0
https://dl.doubtnut.com/l/_LZ6cVVNQM9iR


A. 2x

B. 

C. 

D. 

Answer:

Watch Video Solution

x

2

x + 2

x − 2

21. Angelina weights 20 pounds less than two

thirds the weight of Rambo. 

https://dl.doubtnut.com/l/_LZ6cVVNQM9iR
https://dl.doubtnut.com/l/_x0C6S3ny9VNd


If Rambo weights x pounds, then Angelina's

weight in pounds is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x − 20
3

2

x − 20
2

3

x + 20
2

3

x + 20
3

2

https://dl.doubtnut.com/l/_x0C6S3ny9VNd


22. The number of flowers in the garden A is 5

less than thrice the number of flowers in the

garden B. 

If the number of flowers in garden B is x, then

the number of flowers in garden A is

A. 3x - 5

B. x - 5

C. 3x + 5

D. x + 5

Answer:

https://dl.doubtnut.com/l/_ErCP4HWxUfCY


Watch Video Solution

23. Simplify 

Watch Video Solution

(2a2b − 3bc) − (a2b + 5bc − ca)

24. Simplify 

Watch Video Solution

2m(5m + 4n)

25. Simplify 2a(3b + 5c + 12a)

https://dl.doubtnut.com/l/_ErCP4HWxUfCY
https://dl.doubtnut.com/l/_gDlSRvLvN9B0
https://dl.doubtnut.com/l/_lAeRZNIjgeGu
https://dl.doubtnut.com/l/_SDbIZungDwkg


Watch Video Solution

26. Raju's father is thrice as old as Raju. If

father's age is 45 years, then Raju's age is?

Watch Video Solution

27. Half of a number is added to 18 then the

sum is 46. Then the number is ?

Watch Video Solution

https://dl.doubtnut.com/l/_SDbIZungDwkg
https://dl.doubtnut.com/l/_w19uV0C9tly8
https://dl.doubtnut.com/l/_iP0smyHYQmoR


Summative Worksheet

1. The equation 17x + 6 = 40 can be written in

verbal form as

A. Six more than forty times a number x

equals seventeen

B. Six more than seventeen times a number

x equals forty

C. Forty more then six times a number x

equals seventeen

https://dl.doubtnut.com/l/_AMwz2Y3JEJ67


D. Forty more than seventeen times a

number x equals six

Answer:

Watch Video Solution

2. The equation x + 7 = 3 can be written as

A. Three more than a number x is seven

B. Three less than a number x is seven

C. Seven more than a number x is three

https://dl.doubtnut.com/l/_AMwz2Y3JEJ67
https://dl.doubtnut.com/l/_XfIEXQyysrPH


D. Seven less than a number x is three

Answer:

Watch Video Solution

3. Johnson is three feet shorter than Bryan. 

If Bryan's height is h feet, then Johnson's

height, in feet, is

A. h - 3

B. h + 3

https://dl.doubtnut.com/l/_XfIEXQyysrPH
https://dl.doubtnut.com/l/_ZyYdmXFZfNBb


C. 3h

D. 

Answer:

Watch Video Solution

h

3

4. Eric secured five marks more than twice the

marks secured by Eddy. If Eddy secured M

marks, then which of the following expressions

is equivalent to the marks scored by Eric?

https://dl.doubtnut.com/l/_ZyYdmXFZfNBb
https://dl.doubtnut.com/l/_PIJD557K2k04


A. 2M + 5

B. 2M - 5

C. 5M + 5

D. 5M - 5

Answer:

Watch Video Solution

5. What is the value of variable y in the

equation 4y - 15 = 13?

https://dl.doubtnut.com/l/_PIJD557K2k04
https://dl.doubtnut.com/l/_PJJFDGvcnJSY


A. 3

B. 7

C. 12

D. 14

Answer:

Watch Video Solution

6. What is the value of variable z in the

equation 9z + 23 = 50?

https://dl.doubtnut.com/l/_PJJFDGvcnJSY
https://dl.doubtnut.com/l/_dYRDME93j1ZK


A. 3

B. 5

C. 7

D. 9

Answer:

Watch Video Solution

7. Some cadets are marching in a parade.

There are 8 cadets in each row. There are n

https://dl.doubtnut.com/l/_dYRDME93j1ZK
https://dl.doubtnut.com/l/_hQKzaTzoCnCA


rows of cadets. How many cadets are marching

in the parade?

A. n - 8

B. n + 8

C. 

D. 8n

Answer:

Watch Video Solution

8

n

https://dl.doubtnut.com/l/_hQKzaTzoCnCA


8. Tom is Sally's younger brother and is 5 years

younger than her. The age of Sally is x years.

What is Tom's age in terms of Sally's age?

A. x + 5

B. x - 5

C. 5x

D. 

Answer:

Watch Video Solution

x

5

https://dl.doubtnut.com/l/_mlCWyiU4paTC


9. The statement "four more than a number x"

is equivalent to which of the following

expressions?

A. x - 4

B. x + 4

C. x  4

D. 

Answer:

Watch Video Solution

×

x ÷ 4

https://dl.doubtnut.com/l/_wTzsJQPud38D


10. The expression "six less than five times a

number n" is equivalent to which of the

following expressions?

A. 5n + 6

B. 6n + 5

C. 5n - 6

D. 6n - 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_tyUh0bR8kv2A


11. Eddy has three more marbles than twice

the number of marbles with Rosy. 

If Rosy has x marbles, then the number of

marbles with Eddy is

A. 3x + 2

B. 2x + 3

C. 2x - 3

D. 3x - 2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0upKhJDxPU0j


12. Which equation correctly represents the

statement "seven less than a number 'x' when

divided by four equals twenty"?

A. 

B. 

C. 

D. 

Answer:

= 20
7 − x

4

= 20
4 − x

7

= 20
x − 7

4

= 20
x − 4

7

https://dl.doubtnut.com/l/_0upKhJDxPU0j
https://dl.doubtnut.com/l/_XCiNp0bDcjIJ


Watch Video Solution

13. Which equation correctly represents the

statement "the sum of six and thrice the

number 'n' when divided by five equals

twelve"?

A. 

B. 

C. 

D. 

= 12
5 + 3n

6

= 12
6 + 3n

5

= 12
3(n + 5)

6

= 12
3(n + 5)

5

https://dl.doubtnut.com/l/_XCiNp0bDcjIJ
https://dl.doubtnut.com/l/_9D5OmVv6tYLu


Answer:

Watch Video Solution

14. The weight of a chair is x kg and the weight

of a table is 8 kg lesser than twice the weight

of the chair. What is the weight of the table in

terms of x?

A. (2x + 8)kg

B. (2x - 8)kg

C. (8x + 2)kg

https://dl.doubtnut.com/l/_9D5OmVv6tYLu
https://dl.doubtnut.com/l/_UQzJqQ7dkzXb


Hots Worksheet

D. (8x - 2)kg

Answer:

Watch Video Solution

1. The cost of an ice-cream cone is Rs. 1.50

more than the cost of a particularr chocolate

bar. 

https://dl.doubtnut.com/l/_UQzJqQ7dkzXb
https://dl.doubtnut.com/l/_EFX4fEM7wzfF


If the chocolate bar costs Rs.y, then the ice-

cream cone costs

A. Rs.1.50 y

B. Rs.(y + 1.50)

C. Rs.

D. Rs.(y - 1.50)

Answer:

Watch Video Solution

( )
y

1.50

https://dl.doubtnut.com/l/_EFX4fEM7wzfF


2. Ben's weight is four times Nick's weight. 

If Nick's weight is x pounds, then Ben's weight,

in pounds, is

A. x + 4

B. 4x

C. 

D. x - 4

Answer:

Watch Video Solution

x

4

https://dl.doubtnut.com/l/_FrJfPFN7lhpW


3. Seven less than a number x when multiplied

by five is equivalent to the expression

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x − 7 × 5

(x − 7) × 5

7 − x × 5

(7 − x) × 5

https://dl.doubtnut.com/l/_Bc9iEV9OTIeU
https://dl.doubtnut.com/l/_s90ElbFIMcNt


4. What is the value of variable p in the

equation 49 - 7p = 21?

A. 3

B. 4

C. 5

D. 6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_s90ElbFIMcNt


5. Wht is the value of the variable m in the

equation 3m - 7 = 11?

A. 3

B. 6

C. 8

D. 9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vgobS5kbijWq
https://dl.doubtnut.com/l/_oT1pu1fRbdeM


6. What is the value of variable n in the

equation 2n + 11 = 21?

A. 5

B. 8

C. 12

D. 13

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_oT1pu1fRbdeM


7. Which of the following expressions correctly

represents the expression "eight times a

number z"?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

8 × z

8 + z

z − 8

z ÷ 8

https://dl.doubtnut.com/l/_LgiKQEz0PodN


8. Which of the following expressions correctly

represents the expression "number n divided

by seventeen"?

A. n - 17

B. 17 - n

C. 

D. 

Answer:

Watch Video Solution

n ÷ 17

17 ÷ n

https://dl.doubtnut.com/l/_VwYMoGCm3Rnl


9. Which of the following expressions correctly

represents the expression "five less than a

number x"?

A. 5 - x

B. x - 5

C. 

D. 

Answer:

Watch Video Solution

x ÷ 5

5 × x

https://dl.doubtnut.com/l/_ptzOJgpfFW1E


10. Adam is 4 inches shorter than Brad, whose

height is x inches 

Adam's height, in inches, is

A. 

B. x + 4

C. x - 4

D. 

Answer:

Watch Video Solution

x × 4

x ÷ 4

https://dl.doubtnut.com/l/_nPiiqNUK4ZEk


11. Eric has 5 more pens than Kevin, who has p

pens. The number of pens with Eric is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

p × 5

p + 5

p ÷ 5

p − 5

https://dl.doubtnut.com/l/_o9f1TGWGfb2Y
https://dl.doubtnut.com/l/_PIQcRNuGVA08


12. Mrs. Thomas divided n chocolates equally

among her 2 children. 

The number of chocolates received by each

child is equivalent to which of the following

expressions?

A. 

B. 

C. 

D. 

Answer:

2 × n

n + 2

n ÷ 2

2 − n

https://dl.doubtnut.com/l/_PIQcRNuGVA08


Watch Video Solution

13. Adam is three years elder to his brother

Dan. If Adam's age is x years, then Dan's age is

equivalent to which of the following

expressions?

A. (x + 3) years

B. (x - 3) years

C. (2x + 3) years

D. (2x - 3) years

https://dl.doubtnut.com/l/_PIQcRNuGVA08
https://dl.doubtnut.com/l/_uL87Lp1IVsuS


Answer:

Watch Video Solution

14. The number of books in Andy's bag equals

x. If Sam has 3 more books than twice the

number of books with Andy, then the number

of books with Sam equals

A. 2x + 3

B. 3x + 2

C. 2x - 3

https://dl.doubtnut.com/l/_uL87Lp1IVsuS
https://dl.doubtnut.com/l/_mFLPsbjy2G7R


D. 3x - 2

Answer:

Watch Video Solution

15. Gaudy purchased some pens and pencils.

For every pen, he purchased 2 pencils. 

If the total number of pens puchased was x,

then the number of pencils purchased was

A. x - 2

https://dl.doubtnut.com/l/_mFLPsbjy2G7R
https://dl.doubtnut.com/l/_TeJPPwgpsJSR


Iit Jee Worksheet

B. x + 2

C. x

D. 2x

Answer:

Watch Video Solution

1. Simplify: - 6m - 12 + 7m - 14

https://dl.doubtnut.com/l/_TeJPPwgpsJSR
https://dl.doubtnut.com/l/_Xm8jO16Q8ijY


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−13m − 26

−m − 26

m − 26

13m − 26

2. Simplify: 11r + 13 - 9r - 15

A. 2r + 28

https://dl.doubtnut.com/l/_Xm8jO16Q8ijY
https://dl.doubtnut.com/l/_iOwMuSyAB1OC


B. 2r - 2

C. 2r - 28

D. 2r + 2

Answer:

Watch Video Solution

3. Simplify: 20p + 6 - 23p + 9

A. 

B. 

−3p + 15

−3p − 15

https://dl.doubtnut.com/l/_iOwMuSyAB1OC
https://dl.doubtnut.com/l/_JjTjDMnLULPB


C. 

D. 

Answer:

Watch Video Solution

3p + 5

3p − 15

4. Which of the following are like algebraic

tems? 

A. 

−4pq, 5xy2, 6ab, 0.7pq, 9abc, 3xy, − x2yz

5xy2, 3xy, − x2yz

https://dl.doubtnut.com/l/_JjTjDMnLULPB
https://dl.doubtnut.com/l/_ixFMn4vKhxW4


B. 

C. 

D. 

Answer:

Watch Video Solution

−4pq, 0.7pq

6ab, 9abc

5xy2, 3xy

5. State the unknowns and coefficient of -7pq.

A. 

B. 

Unknowns Coefficient

(A) p, -q −7

Unknowns Coefficient

(B) -p, q 7

https://dl.doubtnut.com/l/_ixFMn4vKhxW4
https://dl.doubtnut.com/l/_5MBXN2aWOcMK


C. 

D. 

Answer:

Watch Video Solution

Unknowns Coefficient

(C) p, q −7

Unknowns Coefficient

(D) p, -q 7

6. Which of the following is a pair of unlike

algebraic terms?

A. 

B. 

−pqr, 0.8qrp

a2bc, − 6ba2c

https://dl.doubtnut.com/l/_5MBXN2aWOcMK
https://dl.doubtnut.com/l/_NpCdBfyOcwzo


C. 1.5xzy, 3xyz

D. 

Answer:

Watch Video Solution

−mkn, 48kml

7. Given that p = -3 and q = 2, evaluate

.

A. -33

B. 6

p2 + ( − pq2) − p2q2

https://dl.doubtnut.com/l/_NpCdBfyOcwzo
https://dl.doubtnut.com/l/_aD0CAUEIEAib


C. -15

D. 36

Answer:

Watch Video Solution

8. 

A. 

B. 

C. 

3mx2 − 8n2y + ( − 4mx2) − n2y =

−mx2 − 9n2y

7mx2 − 9n2y

−7mx2 + 9n2y

https://dl.doubtnut.com/l/_aD0CAUEIEAib
https://dl.doubtnut.com/l/_N7uGlR5YjDYt


D. 

Answer:

Watch Video Solution

7mx2 + 9n2y

9. Evaluate , given that p = -2,

q = 1, x = 3 and y = -4.

A. -4

B. 84

C. -62

7px2 − ( − 4qy2)

https://dl.doubtnut.com/l/_N7uGlR5YjDYt
https://dl.doubtnut.com/l/_Aibx7AMxSZKg


D. 148

Answer:

Watch Video Solution

10. A number is divided by three and

multiplied by the square of a second number.

The product is then divided by three. Write the

algebraic term for the given statements using

p as the first number and q as the second

number.

https://dl.doubtnut.com/l/_Aibx7AMxSZKg
https://dl.doubtnut.com/l/_Ms59JxaHjgIG


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9pq2

pq2

3

pq2

9

3pq2

11. Which of the following are like algebraic

terms?

https://dl.doubtnut.com/l/_Ms59JxaHjgIG
https://dl.doubtnut.com/l/_lxKKEVnK4Ksi


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

5y2x, 3xy2 − 4y2x

−4pq, 0.7pq

6ab, 9ba

5xy2, 3xy

12. Which of the following is a pair of unlike

algebraic terms?

https://dl.doubtnut.com/l/_lxKKEVnK4Ksi
https://dl.doubtnut.com/l/_DFugbAYRbvua


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−pqr, 0.8qrp

a2bc, − 6ba3c

1.5x2zy, 3xyz

−kmn, 48kml

13. Which of the following are monomials?

A. 2x3

https://dl.doubtnut.com/l/_DFugbAYRbvua
https://dl.doubtnut.com/l/_fSwjc7o9369G


B. 

C. 

D. 

Answer:

Watch Video Solution

5x + 4

5y

−9x2 + 5y + 4

14. Which of the following are binomials?

A. 

B. 

2x3

5x + 4

https://dl.doubtnut.com/l/_fSwjc7o9369G
https://dl.doubtnut.com/l/_eqqRMXhvUpcM


C. 

D. 

Answer:

Watch Video Solution

5y3 + 5y

−9x2 + 5y + 4

15. i) Area of the rectangle = (length 

breadth) 

ii) Perimeter of the rectangle = 2 (length +

width) 

Use the above information to solve the

×

https://dl.doubtnut.com/l/_eqqRMXhvUpcM
https://dl.doubtnut.com/l/_MN1AIQOOEqQl


following 

The area of a rectangle is 24 . The width is

two less than the length. Find the length and

width of rectangle.

Watch Video Solution

cm2

16. i) Area of the rectangle = (length 

breadth) 

ii) Perimeter of the rectangle = 2 (length +

width) 

Use the above information to solve the

×

https://dl.doubtnut.com/l/_MN1AIQOOEqQl
https://dl.doubtnut.com/l/_sTz8eO4LSIyG


following 

The Perimeter of rectangle is 20 cm. If the

length of the rectangle is 6 cm. Find the width

of the rectangle ?

Watch Video Solution

17. i) Area of the rectangle = (length 

breadth) 

ii) Perimeter of the rectangle = 2 (length +

width) 

Use the above information to solve the

×

https://dl.doubtnut.com/l/_sTz8eO4LSIyG
https://dl.doubtnut.com/l/_aY3kf9Qami4b


following 

If the length and width of the rectangle is give

as 10 cm and 6 cm respectively. Then find the

area and perimeter of the rectangle?

Watch Video Solution

18. A football team lost 5 yards and then

gained 9. What is the team's progress?

Watch Video Solution

https://dl.doubtnut.com/l/_aY3kf9Qami4b
https://dl.doubtnut.com/l/_Nw7qxpxYR8G5


19. Use distributive property to solve the

problem below: 

Maria bought 1 notebbooks and 3 pens

costing 2 dollars each. How much did Maria

pay?

Watch Video Solution

20. A customer pays 5 dollars for a coffee make

after a discount of 2 dollars 

What is the original price of the coffee maker?

https://dl.doubtnut.com/l/_n5IZJEpseGWl
https://dl.doubtnut.com/l/_hupSFtsrB73K


Watch Video Solution

21. Half a number plus 5 is 9. What is the

number?

Watch Video Solution

https://dl.doubtnut.com/l/_hupSFtsrB73K
https://dl.doubtnut.com/l/_RwCc7Zm95VbD


22. If , then 


Watch Video Solution

= 5, = 5
a

2

b

3
Column - I Column - II

(A) ab (p) 50

(B) (q) 

(C) a2 + b2 (r) 6

(D) (s) 

(t) 325

(u) 150

a

b

3
2

1

( + )1
a

1

b

2
3

https://dl.doubtnut.com/l/_e7atBLXv2CIR


23. If l = 2, m = 4 

Watch Video Solution

Column - I Column - II

(A) (p) 2

(B) (q) 16

(C) 1m (r) 

(D) 12m (s) 8

(t) 32

(u) 1

1
m

m

1

1

2

https://dl.doubtnut.com/l/_4JY764RqYmG1

